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Solution to HW6

lost — ¢052(40 — 10)cos?(60 — 10) = 031,

Output of the rotating polarizer: I, = Ipyr1c052(wt),

Output of the third polarizer: I3 = Iyyr2€05? (g — a)t) = I"% [1 = cos(4wt)].

Left-handed elliptical polarization. (Any reasonable analysis would be fine)

Comparison of the irradiance output can distinguish the polarizer and the wave plate.
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(@) Eque = NG 1 \/§>, polarization direction is 8 = —15° with respect to x axis;
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(b) Egyr = ﬁ( 1+43 ), polarization direction is 8 = 75° with respect to x axis;

(c) Rotation angle is —15°.



